(1)

F185

BRI A

—Hz [5£51])
5|5 L ER=RAGEEE/ T B =R3EE
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Gl 2 it =
Fa | @ o® HFLE mge | Foa | mme | zxe
b aTES (F) (a) (A1) (A) (/) (kg) (M)
- 578| 16, 665. 8 786,980,000| 20,483, 441| — — —
627| 17,9227 776.770,000| 18,863,201 172|248, 529| 62, 162, 000
_ 12 137.5 5, 160, 000 13,121 — — —
j’ ’ ’ b

M7 INI AR 11 119. 5 3. 980, 000 87. 963 1 892 93, 400
- 10 171.3 6, 260, 000 93,284 — — —

AL ER 3P 13 303. 1 11, 540, 000 186, 438 12 9,789 2,571, 400
o = 600|  16,974.6 798, 400,000| 20,689, 846| — — —
= F 651| 18, 345.3 792.290,000| 19, 137, 602 185 259,210| 64,826, 800
s _ — — — R2
> 207| 443,313 117, 250, 700

STETELE 92. 2% 92. 5% 100. 8% 108. 1%  62. 3% 58. 5% 55. 3%
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_ 515%: FER=R4FE/ TR=-R3FE SERMDHEEISR2FE
HH 3| 2 m =
Fy | @ ® e gige | 7 x| mes | xwe
X4 (F) (a) (M) (M) (F) (kg) (M)
- 371| 11,115, 9 583,000,000| 14,468,821 — — —
404| 11,9209 561,540, 000| 13,306, 898 125| 179, 282| 53,018, 300
) 7 1.1 2,970, 000 55,023 — — —
S . , 970, ,

M7 NI AR 6 62. 5 2. 270, 000 37.735 1 892 93, 400
- 9 153. 3 6, 050, 000 84,017 — — —

AL ER 3P 12 285. 1 11, 330. 000 180, 365 12 9,789 2,571, 400
~ = 387| 11,340, 3 592,020,000| 14,608, 761| — — —
I 422| 12,2685 575.140,000| 13,524, 998 138|  189,963| 55,683, 100
P — — — — R
> 253 386, 952 109, 248, 800

XA L 91. 7% 92. 4% 102. 9% 108.0%|  54. 5% 49. 1% 51. 0%
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AH 3| 2 %& =
Fa | @ o® #FLE e | 7o | mme | xEe

b aTES (F) (a) (A1) (H) (/) (kg) (M)

_ 140 4,305. 7 171, 200, 000 4,593, 150] — — —
R P 19|  4.610.3 180, 010, 000 3,999, 359 27| 38,387 5,889,300

_ 4 46. 4 1, 770, 000 31,465 — — —
j’ ’ ’ b

BT INI AR 4 37.0 1, 320. 000 24, 936 0 0 0
- 0 0.0 0 o — — —

AL ER 3P 0 0.0 0 0 0 0 0
o = 144 4,352. 1 172, 970, 000 4,624,615] — — —
= F 153 4, 647.3 181, 330, 000 4,024, 295 27| 38,387 5,889,300
sz _ — — — R2
> 29| 36,875 5,710,700

STETELE 94. 1% 93. 6% 95. 4% 114. 9%  93. 1% 104. 1% 103. 1%
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_ 515%: FER=R4FE/ TR=-R3FE SERMDHEEISR2FE
HH 3| 2 m =
Fy | @ @ #FRIE e | 7o | mmE | x#e
X4 (F) (a) (M) (M) (F) (kg) (M)
_ 24 393. 2 10, 690, 000 695, 177] — — —
TR 29 470.5 11, 800. 000 780, 850 7 6,936 1,041,600
) 1 20.0 420, 000 25,733] — — —
j . ) )

BT INI AR 1 20. 0 390, 000 25, 292 0 0 0
- 0 0.0 0 o — — —

AL ER 3P 0 0.0 0 0 0 0 0
~ = 25 413.2 11,110, 000 720,910] — — —
I 30 490. 5 12, 190. 000 806, 142 7 6,936 1,041,600
5= _ — — — R
> 10 8,017| 1,442,700

XA L 83. 3% 84. 2% 91. 1% 89. 4%  70.0% 86. 5% 72. 2%
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_ 515 FER-RASF /T EX-R3FE ZSERMDWEIFR2EE
HE 3| 2 %& =
F # m i HEERE e F #& | BIRE HES
X (F) (a) (M) (M) (F) (k) (M)
= 43 851.0 22, 090, 000 726,293] — — —
R P 45 921. 0 23, 420, 000 776, 094 13 23,924| 2,212, 800
e 1 18.0 210, 000 9,267 — — —
AL ER 3P 1 18.0 210, 000 6, 073 0 0 0
A e 44 869. 0 22, 300, 000 735,560] — — —
= B 46 939. 0 23, 630, 000 782, 167 13 23,924| 2,212, 800
R2
;,/Q _ _ _ _
cal 5 11, 469 848, 500
STETELE 95. 7% 92. 5% 94. 4% 94. 0% 260. 0% 208. 6% 260. 8%




